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IR spectroscopy? o
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(d) Draw the MOs diagram for the allyl anion and allyl caf (
their FMOs . Predict the product of the reaction betg;em

(B) Answer any one of the following:

(@) Then - 7 transition of acetone appears
and 264.5 nm in water. Explain.

(b) Explain the following in IR spectrosco

(i) Vibrational coupling ;
(i) Nature of hydrogen bonding -

4. (A) Answer any two of the following

. ij\*\ NN N

(@) ‘Acetylenic protons appe,grfgt‘gro\gﬁ

< 5 (\\\M\C"\ 0

SIS =

gIINMR SPESOseoRy's

(i) spin —spin coupling constant> <

(i) Karplus curve andits significan
X O S

A

(b) Explain the following:

N

12
<O
S
QS ;
I 0= 1N~
I ’ NG

e basis of their proton 04

(¢) How will you differentiate betwee
A ENINIR Shentea

tra N
PSP TS NL S FOL
molecular formula (CéH120,) showed the following IR 04
ssign the:structure to the compound.
), 2850, 1730,1480, 1460, 1400 cm™

12009

&

H.s);.

D
LT =0.3:0.(21
7 A O o
3‘:&1@ Qﬁ.;?\»;t?,g‘;j ; e

\»' . .
wing reaction and give the mechanism:
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(B) What

sen ester condensation? Give an example. .

(C) Complete the following reactions:

COOH i tanslthtsy 1

DNaoH

=k

)

U

the PMR spectra of

1mn

.

Bsewed

>
X
0

ke

N \: '\Q”A}A\\)
‘R@tgﬁl:lb

ctrometry

S'1n mass spe

R

(E) What are soft
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